Maharashtra Police 2013 Question Paperl

Questions : 1) ex-officious Chairman of the Planning Commission of India Are ?1) President 2)
Prime 3) the 4 ) The GovernorQ: 2) Five-Year Plan is on the Kitwe ? 1)212V)11V-3)12V 4) 15
VQ: 3) Who is the finance minister of Maharashtra saddhyace ?Jayant Patil 2) Sunil Tatkare 3) Ajit
Pawar 4) Sharad PawarQ: 4) The establishment of NABARD Bank ?
Q: 16) What is the remuneration for work of the Committee upsabhapatice ?
Q: 44) Who is the foreign secretary of India ?
Q: 64 - Howthe A ?
Q: 92) ------- 12.25,20.25,30.25
1) 36 2) 54 3) 45 4) 58
1)1992 2) 1991
3) 1979 4) 1982
Q: 5) state that exists when ?
1 May 1960 2) 1 May 1961
3) 14 May 1970 ) May 1, 1959
Q: 6) The level of the system is pancayataraja
1) The two-tier , 2) three-
3) both 4) of this
Q: 7) Maharashtra State pancayataraja accept Kitwe
Is

1) The first 2 ) Accra

3) navave 4) SSC
Q: 8) Who is Ashok Mehta committee next ?
Rajyasasana 2) central government 3) both 4) of the

not

Q: 9) which pudhilapaioki pancayataraja this list The subject is

1) Samavartisuci 2) kendrasuci 3) rajyasuci 4) All of the above

Q: 10) How much time is generally panchayat members ?
1) 2 5 months ) 4 years
3) 4to 6 years ) 5 years

Q: 11) per cent of the women in local government organization is a reservation ?
33%2)45%3)50%4)27 %



Q: 12) gramapancayatica your resignation upasarapanca
, Whois ?

Panchayat Chairman 2) presidents
Panchayat upasabhapati 4) gramsevaks
Q: 13) gramapancayatice angle creates a Budget ?

1) presidents 2) gramsevaks 3) B. O 4) upasarapanca
Q: 14) What are the annual meeting of the Gram Panchayat ?
62)43)124)8
Question; 15) The administrative head of the Committee of the Panchayat
Panchayat Chairman 2) extension officer

B. O 4) gramsevaks

10000 2) 6000
3) 12000 4) 8000
Q: 17) Where there is a committee presidents ?
Gram Panchayat 2) jilhaparisada
Panchayat 4) nagaraparisada
Q: 18) Who is the secretary of the Planning Commission ?
CEO 2) O B.
3) The Divisional Commissioner 4) Collector
Q: 19) whose secret jilhaparisada the following
Reports can write ?
1) The Divisional Commissioner 2) Collector
3)CEO4)B.O
Q: 20) on matters pertaining to the cost of the most jilhaparisadeca
When ?
1) Health , 2 ) Hygiene 3) Education 4) Water Supply
Q: 21) How many people currently have nagarapancayati ?
52)83)44)6
Q: 22) Who is the administrative head nagaraparisadeca ?
Tahasildars 2) Collector
B. O 4), the chief
Q: 23) How is the term nagaradhyaksanca ?
1) 5 years . 2) 25 years 3) 5 4 months ), 2.5 months
Q: 24), most of which municipal district
Are
1) Ahmednagar 2) Thane .



3) Pune 4) City
Q: 25) How remuneration is currently kotavalala ?
1) 5000 2) 3000 3) 2000 4) 800
Q: 26) for the three villages with more than one inspector who has the right to appoint ?
1) Tehsildar 2) extension officer 3) District 4) B. O
Question: 27) The Educational qualification should be patalaci ?
The fourth 2) the sixth
3) the SSC 4) the eighth
Q: 28) Who was the president of the Committee ?
1) DR. Ambedkar 2) DR. Rajendra Prasad
3) Pandit Nehru 4 ) Mahatma Gandhi
Q: 29) When the Indian Constitution was implemented ?
Nov 26, 1949 2) 1946 3 9 Dec ) 1950 26 to 4) novem 26, 1950
Q: 30) Appendix | to the Constitution of India is the beginning ?
42)123)64)8
Q: 31) beginning of the Constitution of India: the default
Including rights ?
1)62)73)84)5
Question: 32) The provision of the Constitution of guidelines
Kitavya case has been ?
22)33)44)5
Question: 33) The paramount chief of the force tinhihi ?
Governor 2) President
Prime 4) deputy president
Q: 34) , who is the President of your resignation ?
1) The Supreme Court of Justice , 2 ) the Prime Minister
3) deputy president 4 ) The Governor
Q: 35), the President of mercy kitavya
kalamanusara
Is
1) Article 62 2) Article 71 3) Section 72 4) of section 73
Q: 36) What are the Parliament Hall senior and second ?
Assembly 2) Lok Sabha
Rajya Sabha 4) Council,
Q: 37) dhanavidheyaka the right to decide whether or not to
Who is ?
President 2) deputy president



Chairman of Rajya Sabha 4) Lok Sabha Chairman
Q: 38), the first female Chairman of the Lok Sabha ?
1) Pt 2 vijayalaksmi ) Sushma Swaraj
3) Pratibha Patil 4) Meira Kumar
Q: 39) Who is the vice president of the Rajya Sabha ?
Hamid Ansari 2) Delete Munda
3) P.J.Kurien 4) Arun Jaitley
Q: 40) Which of the following permanent right Hall
Is
Rajya Sabha 2 ) Assembly
3) Lok Sabha 4) Council,
Q: 41) Total current state of the Legislative Assembly
MLA women are ?
112)103)124)13
Q: 42) state the number of members of the Legislative Council
how
1) 288 2)2503)194) 78
Q: 43) uccanyayalayaci kitavya kalamanusara is provided ?
1) Article 214 2) Article 114
3) Section 124 4) of section 141

1) Nirupama Rao 2) Salman Khurshid
3) Ranjan Mathai 4) Sujatha Singh
Question: 45) The Chief Justice of the Supreme Court
Who is ?
Kabir altamasa 2 ), p. Sadashiv
3) Take the . Mohit Shah 4) . Balakrishna
Q: 46) Who is the 14th president vittaayogace ?
Vijay Kelkar 2) DK Jain
3) y . Said. Reddy 4 ), c. Rangarajan
Q: 47) Who is the Central Railway ?
1) Pawan Kumar Bansal 2) PK Joshi
3) Mamata Banerjee 4) Mallikarjun Kharg
Q: 48) Who is the State adivasimantri ?
1) babanarava pacapute 2) Patangrao step
3) madhukararava picada 4) Narayan Rane

Q: 49) Mahatma phulenni Satyashodhak the community



I was ?
1973 2) 1872 3) 1872 4) 1899
Q: 50) Who of the following founded the independent labor organization ?
1) Maharshi Karve 2) Agarkar goga
3) DR. Ambedakadara 4) Shahu Maharaj
Q: 51) vedokta someone is related to the following ?
1) DR. Ambedkar 2) Sane Guruji
3) Mahatma Gandhi 4) Shahu Maharaj

Q: 52) Who is the autobiography ?
1) Mahatma Phule 2) Maharshi Karve
3) goga Agarkar 4) DR. Ambedkar
Q: 53) Who founded the Sharada House ?
1) Tarabai Shinde 2) Tiger anutai
3) Pandit Ramabai 4) Sarojini Naidu
Q: 54) Shahu Maharaj your sansthanata antarajatiya
The law was passed by the marriage recognized
1) 1916 2) 1918 3) 1917 4) 1919
Q: 55) Who was the creator isvarala ?
1) Agarkar goga 2) Mahatma Phule
3) Maharshi Karve 4) said. Ranade
Q: 56) Who orphan balikasrama institute ?
Mahatma Phule 2) Maharshi Karve
3) DR. Ambedkar 4) said. Ranade
Q: 57) Prevention of infanticide planet of Mahatma
| was phulenni ?
1899 2) 1862 3) 1963 4) 1863
Q: 58) at Mhow, which samajasudharakaca birth
There ?
Said. Ranade 2) Maharshi Karve
Sane Guruji 4) DR. Ambedkar
Q: 59), which the Government of India Maharshi Karweit
Vibhushan award by the gauravile ?
1) 1952 2) 1855 3) 1858 4) 1955
Q: 60) 21 to 30 of the number of odd and even berjetila
The difference ?

1)1302)1253)554) 5



Q: 61) 5 pakalyanci so far we have no janavhi
Nimmi the flowers near her 4 pakalyanci

We are . 's Total flower petals all 112
If the flowers are 4 Total pakalyanci ?
1)162)323)804)08

Q: 62) 36 nishesh the outgoing part of the following numbers
What ?

Q: 63) Average Hourly flying a 45 km train
Thane scheduled . T. If the average 54- h
If it is determined in the prescribed speed km
Thane and 20 minutes from the time she kapavayace
The difference between the total ?
1) 2180 km) 270 km 3) 75 4 km ) 90 km

1)362)623)544)45

Q: 65) amarace 8 years after the age of 8 years earlier
Of age will double . Amarace and how today’s age ?
1)162)183)244)12

Q: 66) Railway tickets Shay rate increased again by .1015

She 's the end of the month and increased by 10
Percent increase in the rent ?
25%2)26.5% 3) 20 % 4 ) 23%
Q: 67) Rs 500 each to two things vikalyane
Buy a profit of 8% and 8% loss dusarita
Is , those transactions per cent of the profit or
Loss will

Loss of 8% 2) 6.4% profit

3) loss of 0.64 % 4) 0.64 % Net Profit

Q: 68) 240 as a product of the sale vikalyane

Profit is the amount of the transactions . Profits of the
1)25%2)16 % 3)48 % 4) 20%

Q: 69), one or two years saralavyaja amount of Compound
Rs 860 and Rs 800, respectively, of interest is the interest
Rate it ?

1)10%2)12% 3)15% 4) 7.5%
Q: 70) .8 C dasada at Rs 5000 to Rs 1600 to Rs

Relevance, as it will take years to take saralavyaja



Total interest at the rate of Rs 10 to Rs 3,000 a year
Will be ?
1) Rs 1200 2) 1160 3 Rs ) Rs 1,000 4) Rs 960
Q: 71) and 30 cm respectively, a rhombus
If the arm is 16 cm caukonaci ?
1)25cm 2) 18 cm 3) 4 12cm ) 17 cm
Q: 72) to increase the area of a circle of radius 5%
How will takyanni ?
1)5%2)10.5% 3) 10.25% 4 ) 10%
Q: 73), 12% of the 0.625 ?
1) 0.0752)0.153)0.754) 7.5
Q: 74) and divide by the number 7, the number of the class
Said. System of which the number ?
1)492)73)4)
Q: 75), a 32 cm square of stars . They
More than the length of the side of 7 cm Square
Less than 7 cm in width and the side of the Square
The area of the rectangle ?
642)153)494)30
Q: 76) and one more thing to take away the museum to
The number 50 is the number of legs 144
Itis . Respectively, the number of them to lose more and
How many ?
1) 22.28 2) 24.26 3) 28.22 4) 26.24
Q: 77) , or numbers 12,18,27 padhayatila samaika
What is the number ?
1) 144 2) 108 3) 236 4) 225
Q:78)1+3=4,1+3+5=9,and1+3+5+7=16
1+3+5+29= ... ?
1) 196 2) 169 3) 289 4) 225
Question : 79) ZA, CX, VE, GT,? , KP
IR2)GJ3)RI4)RJ
Question : 80) BYL, GDO, LIV, GNA,?
1) USG 2) VRF 3) VTF 4) VSF
Question : 81) BCD 9, FGH 21, JKL 33,?
1) MNO 42 2) NOP 42 3) NOP 45 4) MNO 45
Question: 82) The identity of the incompatible



1)HE32)MH53)0G 74)KJ1
Question : 83) HATE writes the word , the word of the 8175
How to be written ?
1) 11256 2) 121156 3) 121255 4) MNO 45121155
Question : 84) PUNDIT the written word and the word to be
will be written
1) LZBC 2) LZBD 3) LZCD 4) KYCD
Q: 85) 2,5,13,29 , ----
1)532)433)474)41
Q: 86) 13,610,1521,2836 , ----
1) 4555 2) 4454 3) 4347 4) 4556
Q: 87) 0,7,22,45 -------
1)992)743)764)91
Q: 88) 4,27,256 , -----
1) 125 2) 1296 3) 3125 4) 625
Q: 89) ----- 5,12,31,68,129
1) 258 2) 219 3) 248 4) 220
Q: 90) ------ 648,448,294,180,100
1)372)483)804)60
Q: 91)
1))3)

1) 40.25 2) 48.25 3) 56.25 4) 42.25
Q: 93)

Q: 93) and 20 to read a book to save the remainder of the 64 live , how they will be able to book
1)16 2)323)804)08
Q: 94) 3x and 5x , respectively , and the number of them is the difference between the 18 . Lasavi how
those numbers ?
1) 1215 2) 145 3) 135 4) 270
Question : 95) 2x - 8 - 3x =x - 12 and x =?
1)-22)23)44)10
Q: 96)
1)242)83)44)12
Question : 97) x y is the currency busy . , When x =6/5andy =25 /12 as the y = 15/8 x = a and the ?
1) 5/2 2) 4/3 3) 2/5 4) ¥

Q: 98) between Sri Lanka and India --------- Samudradhuni is .



1) Palk 2) Adam 3) Mannar 4) Jaffna

Q: 99 ) sejha ' is related to the following ?
1) Agriculture 2) Fishing 3) Occupation 4) Environment

Q: 100) , which is the day of the Regional Theatre Day is celebrated
1) November 2, 5), 5 June 3) March 27, 4) none of the above



